HH2F 8H2H

B— B BIM ShE (1678)
AU F 2S5 —DES (578)
(R K A OUT | IN |GROSS|HDCP| NET
1 = e 40 36 76 12 64
2 Bf HE 37 42 79 13 66
3 RE HEH 36 35 71 4 67
4 BH BE 36 36 72 4 68
5 EO Bz 40 38 78 10 68
10 BgZR EHER 40 37 e 8 69
15 BX Bt 39 42 81 10 71
20 Wt =EE£ 43 40 83 11 72
25 by =17 42 40 82 8 74
30 B8 &T 39 44 83 4 76
BG R&E  H63 36 35 71
B#lLF+a21>5—0DE6 (59%)
(LY K & OUT | IN |GROSS|HDCP| NET
1 NE == 37 40 (7 15 62
2 CEINN 2 39 46 85 23 62
3 =8 A 37 42 79 16 63
4 B =8 48 40 88 22 66
5 [MEB 1IEA 43 46 89 22 67
10 J\R ZHE 45 43 88 20 68
15 RE B 44 41 85 15 70
20 AR #E 43 46 89 17 72
25 it 5= 46 49 95 22 73
30 {8 1EW 53 46 99 24 75
BG N=E =ZE 37 40 77
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TOSVRIZT « UT 1 —ADED (518)
Ry K A OUT | IN |GROSS|HDCP| NET
1 TiE |R— 44 37 81 19 62
2 Wt 23 47 43 90 27 63
3 F EARR 42 35 e 13 64
4 RIF AE 50 45 95 30 65
5 BSE  1ER0 38 41 79 13 66
10 BX =— 44 37 81 14 67
15 s ==]] 44 44 88 20 68
20 FgESCRER 43 43 86 16 70
25 Bl &RE 47 40 87 15 72
30 fUgf BI— 48 50 o8 25 73
BG SE e 43 34 77
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